Shetland Islands Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Shetland Central

973

3

244

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Julie Jemima BUCHAN	Independent	118
Mark Robert BURGESS		260
Brian NUGENT		84
Davie SANDISON	Independent	320
lan SCOTT		191
	Total	973

Candidate Mark Robert BURGESS Elected with 260 votes, being in excess of the quota of 244 Candidate Davie SANDISON Elected with 320 votes, being in excess of the quota of 244

Shetland Islands Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Davie SANDISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Jemima BUCHAN	91	0.23750	21.61250
Transfer to Mark Robert BURGESS	0	0.00000	0.00000
Transfer to Brian NUGENT	39	0.23750	9.26250
Transfer to Davie SANDISON	0	0.00000	0.00000
Transfer to Ian SCOTT	97	0.23750	23.03750
Value of non-transferable ballot papers			22.08750
	Total		76.00000

N.B. The figures may not add due to rounding.

Shetland Islands Council

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Mark Robert BURGESS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Jemima BUCHAN	118	0.06153	7.26054
Transfer to Mark Robert BURGESS	0	0.00000	0.00000
Transfer to Brian NUGENT	41	0.06153	2.52273
Transfer to Davie SANDISON	0	0.00000	0.00000
Transfer to Ian SCOTT	51	0.06153	3.13803
Value of non-transferable ballot papers			3.07870
	Total		16.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Brian NUGENT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Jemima BUCHAN	14	0.06153	0.86142
Transfer to Julie Jemima BUCHAN	7	0.23750	1.66250
Transfer to Julie Jemima BUCHAN	20	1.00000	20.00000
Transfer to Mark Robert BURGESS	0	0.00000	0.00000
Transfer to Davie SANDISON	0	0.00000	0.00000
Transfer to Ian SCOTT	8	0.06153	0.49224
Transfer to Ian SCOTT	12	0.23750	2.85000
Transfer to Ian SCOTT	43	1.00000	43.00000
Value of non-transferable ballot papers			26.91907
	Total		95.78523

N.B. The figures may not add due to rounding.